1.)

a.

Question: Construct from first principles the hamiltonian fore a 1D harmonic oscillator of mass m and spring constant k.

The kinetic energy is given by:

$$T = \frac{1}{2}m\dot{q}^2$$

While the potential energy is:

$$U = \frac{1}{2}kq^2$$

As we know. L = T - U and $H = p\dot{q} - L$, leading to:

$$H = \frac{p^2}{2m} + \frac{1}{2}kq^2 \tag{1}$$

or

$$H = \frac{p^2}{2m} + \frac{1}{2}m\omega q^2$$

b.

Question: Determine the constant C such that $Q = C(p + im\omega q)$ and $P = C(p - im\omega q)$ define a canonical transformation.

There are multiple ways to show that a transformation is canonical, here I use the fact that Poisson brackets are conserved on canonical transforms.

$$\begin{split} [p,q] &= [P,Q] \\ [p,q] &= \frac{\partial p}{\partial q} \frac{\partial q}{\partial p} - \frac{\partial q}{\partial q} \frac{\partial p}{\partial p} = -1 \\ [P,Q] &= \frac{\partial P}{\partial q} \frac{\partial Q}{\partial p} - \frac{\partial Q}{\partial q} \frac{\partial P}{\partial p} = (-im\omega C)C - C(im\omega C) = -2im\omega C^2 \end{split}$$

So we have:

$$-2im\omega C^2 = -1$$

$$C = \sqrt{\frac{1}{2im\omega}}$$

c.

Question: What is the generating function S(q, P) for this transformation? We have, by definition:

$$p = \frac{\partial S(q, P, t)}{\partial q} \tag{2}$$

$$Q = \frac{\partial S(q, P, t)}{\partial P} \tag{3}$$

So we can write:

$$p = im\omega q + \frac{P}{C} = \frac{\partial S}{\partial q}$$
$$S = \int \left(im\omega q + \frac{P}{C}\right) dq = \frac{Pq}{C} + \frac{im\omega}{2}q^2 + g(P) \tag{4}$$

Where g(P) is some function depending only on P. Taking the derivative of Eq 4 with respect to P

$$\frac{\partial S}{\partial P} = \frac{q}{c} + \frac{dg}{dP}$$

And we know that the above should be equal to Q by Eq 3. So:

$$\frac{q}{c} + \frac{dg}{dP} = C(2im\omega q + \frac{P}{C})$$
$$\frac{dg}{dP} = \frac{q}{C} - \frac{q}{C} + P$$
$$g(P) = \frac{1}{2}P^2$$
(5)

Finally, putting it all together:

$$\boxed{S(q,P) = \frac{1}{2}P^2 + \frac{qP}{C} + \frac{q^2}{4C^2}}$$

d.

Question: Find Hamilton's equations of motion for the new variables

We know that our new Hamiltonian, $\tilde{H}(Q, P, t)$, if related to our coordinates P and Q by:

$$\dot{Q} = \frac{\partial \tilde{H}}{\partial P} \tag{6}$$

$$\dot{P} = -\frac{\partial \tilde{H}}{\partial Q} \tag{7}$$

But we can write \dot{Q} and \dot{P} as:

$$\dot{Q} = C(\dot{p} + im\omega\dot{q}) \tag{8}$$

$$\dot{P} = C(\dot{p} - im\omega\dot{q}) \tag{9}$$

and using our hamiltonian, H(q,p,t) to derive \dot{q} and $\dot{p}\text{:}$

$$\dot{Q} = C(-m\omega^2 q + im\omega\frac{p}{m}) = Ci\omega(p + im\omega q) = i\omega Q$$

Thus we can integrate the above equation to arrive at:

$$\tilde{H}(Q, P, t) = i\omega QP + g(Q) \tag{10}$$

where again g(Q) is some function depending only on Q. Switching over to \dot{P} :

$$\begin{split} \dot{P} &= C(\dot{p} - im\omega\dot{q}) = -i\omega P = -\frac{\partial\tilde{H}}{\partial Q} \\ &-\frac{\partial\tilde{H}}{\partial Q} = -i\omega P + \frac{\partial g}{\partial Q} \end{split}$$

Thus g(Q) = 0 and we can see that our new Hamiltonian is given by:

$$\tilde{H}(Q,P,t)=i\omega QP$$

Using this Hamiltonian, we can trivially see that:

$$\dot{P} = -i\omega P$$
$$\dot{Q} = i\omega Q$$

We can integrate these equations to find:

$$Q(t) = Q_0 \exp\left(i\omega t + \phi_1\right) \tag{11}$$

$$P(t) = P_0 \exp\left(-i\omega t + \phi_2\right) \tag{12}$$

or, substituting in for our original coordinates:

$$p(t) = \frac{1}{C} \left[Q_0 \exp(i\omega t + \phi_1) + P_0 \exp(-i\omega t + \phi_2) \right]$$
(13)

$$q(t) = \frac{1}{2im\omega C} \left[Q_0 \exp\left(i\omega t + \phi_1\right) - P_0 \exp\left(-i\omega t + \phi_2\right) \right]$$
(14)

Fetter & Walloka 67

- canonical transformation $q_{e}, p_{e} \rightarrow Q_{e}, P_{e}$ preserves Hamilton's equations: $\Rightarrow \dot{Q}_{e} = \frac{\partial \tilde{H}}{\partial P_{e}}, -\dot{P}_{e} = \frac{\partial \tilde{H}}{\partial Q_{e}}$

where *H* is the new Hamiltonian in terms of the new generalized coordinates and momenta.

$$\int_{t_1}^{t_2} dt \left\{ p_r \dot{q}_r - H(q_r p_r t) \right\}^2 = 0 = \int_{t_1}^{t_2} dt \left\{ p_r \dot{q}_r - \tilde{H}(q_r p_r t) \right\}^2$$

→ satisfied and phase-space volvmus preserved when

*)
$$Pr\dot{q}r - H(q,p,t) = Pr\dot{q}r - \tilde{H}(q,p,t) + \frac{\alpha r}{\partial t}$$

where F is the generating function

- for function $F_2[q, P,t]$ we have $F = F_2[q, P,t] - P_F Q_F$ [type 2 generating func.) $\Rightarrow \frac{dF}{dt} = \frac{JF}{Jq}\dot{q} + \frac{JF}{JP}\dot{P} + \frac{JF}{JQ}\dot{Q} + \frac{JF}{Jt}$ $= \sum_{r} \left(\frac{JF_1}{Jq_r} \dot{q}_r + \frac{JF_1}{JR} \dot{P}_r - Q_F \dot{P}_r - P_F \dot{Q}_r \right) + \frac{JF}{Jt}$

- equation (*) can thus be written as

$$\sum_{\sigma} \left[\left(p_{\sigma} - \frac{\partial F_{\sigma}}{\partial q_{\sigma}} \right) \dot{q}_{\sigma} + \left(q_{\sigma} - \frac{\partial F_{\sigma}}{\partial P_{\sigma}} \right) \dot{P}_{\sigma} \right] - H \left[q_{1} p_{1} t \right] = -\tilde{H} \left[q_{1} p_{1} t \right] + \frac{\partial F_{\sigma}}{\partial t}$$

= need

$$Pr - \frac{\partial F}{\partial qr} = 0$$
, $Qr - \frac{\partial F_2}{\partial Pr} = 0 \Rightarrow Pr = \frac{\partial F_2}{\partial qr}$, $Qr = \frac{\partial F_1}{\partial Pr}$

so that

$$\tilde{H}(Q,P,t) = H(Q,P,t) + \frac{JE}{Jt}$$

$$\Rightarrow p_{r} = \frac{\partial F_{r}}{\partial q_{r}} = P_{r}$$

$$Q_{r} = \frac{\partial F_{r}}{\partial P_{r}} = Q_{r}$$

$$Q_{r} = \frac{\partial F_{r}}{\partial P_{r}} = Q_{r}$$

b) want to show the function So+Hdt generates the dynamical transformation from to t+dt

- again & is a type 2 generating function, so

$$P\sigma = \frac{\partial G}{\partial q_r} = P_{\sigma} + \frac{\partial H}{\partial q_r} dt$$

$$= P_{\sigma} - \dot{p}_{r} dt \Rightarrow P_{\sigma} = p_{\sigma} + \dot{p}_{r} dt$$

$$P_{\sigma} = p_{\sigma} (t + dt)$$

Hamiltinis Equations: go = <u>JH</u> Jpr , -po = <u>JH</u> Jgr

- new momenta are the old momenta evaluated at time t+dt

$$Q_r = \frac{\partial G}{\partial P_r} = Q_r + \frac{\partial H}{\partial P_r} dt$$

$$\approx Q_r + \frac{\partial H}{\partial P_r} dt$$

$$= Q_r + \frac{\partial H}{\partial r} dt$$

$$Q_r = Q_r + \frac{\partial H}{\partial r} dt$$

⇒ Since we have shown that this generating function produces new coordinates and momenta satisfying Qr = q. (t+dt) and Pr = p. (t+dt), the time development of any mechanical system must always be a canonical transformation.







PHYS 200 B winter 2014
HW #3 Problem #3
3) Fetter and Walecka 6.8
Let
$$G = So + g \cdot dg$$

 $G = \sum q_g P_F + \sum P_F dgr$
 $\frac{dG}{dt} = \sum (q_g P_F + q_F P_F) + \sum P_F dgr$
Since this is a type II generating function we define:
 $F = G - \sum P_F Q_F$
Conveniend transformations satisfy the following equation:
 $\sum pr q_F - H = \sum P_F Q_F - H + dG$
 $\sum g_F q_g - H = \sum P_F Q_F - H + dG$
 $\sum g_F q_g - H = -\sum P_F Q_F - H + dG$
 $\sum g_F q_g - H = -\sum P_F Q_F - H + \sum (q_g - P_F + q_F P_F) + \sum P_F dq_F$
 $\sum g_F q_g - H = -\sum P_F Q_F - H + \sum (q_g - P_F + q_F P_F) + \sum P_F dq_F$
 $\sum g_F q_g - H = -\sum P_F Q_F - H + \sum (q_g - P_F + q_F P_F) + \sum P_F dq_F$
 $\sum g_F q_g - H = -\sum P_F Q_F - H + \sum (q_g - P_F + q_F P_F) + \sum P_F dq_F$
 $\sum (q_F - P_F) q_F - H = \sum (-O_F + q_F + dq_F) P_F - H$
 $= O (1)$
 $(1) \Rightarrow p_F - P_F = O$
 $P_F = P_F$
 $(3) \Rightarrow -Q_F + q_F + dq_F = O$
 $Q_F = q_F + dq_F$
 $\Rightarrow L = P_F$
 $Q = q_F + dq_F$
Finite translations
 $Q = q_F + dq_F$

2)2015
3) Fetto ord Walecka 6.8 centimed
Let G = So +
$$\hat{n} \cdot \underline{L}d\rho$$
 $\underline{L} = q \times \underline{L}$
 $G = \sum q_{\pi}Pr + n_{\pi}Eijhq q; Pjdp$
 $\frac{dG}{dt} = \sum (q_{\pi}^{*}Pr + q_{\pi}Pr) + n_{\pi}Eo_{j}K_{\pi}^{*}rr Pjd\rho + n_{\pi}Eirmq; Prd\rho$
Since this is a type I generating function we define:
 $F = G - \sum PrQ\sigma$
Convical transformations satisfy the following equation:
 $\sum prq_{\pi} - H = \sum PrQr - H + dF$
 $\frac{dF}{dt}$
 $\sum prq_{\pi} - H = \sum PrQr - H + dG - \sum PrQr$
 $\sum prq_{\pi} - H = -\sum PrQr - H + dG$
 $\sum prq_{\pi} - H = -\sum PrQr - H + dG$
 $\sum prq_{\pi} - H = -\sum PrQr - H + dG$
 $\sum prq_{\pi} - H = -\sum PrQr - H + 2(q_{\pi}^{*}Pr+q_{\pi}Pr) + n_{\pi}Errmq; Pjdp$
 $+ n_{\pi}Errmq; Prdp$
 $\sum (p_{\pi} - Pr - n_{\pi}Errm; Pjdp)q_{\pi} - H = \sum (-Qr + q_{\pi} + n_{\pi}Errmq; Pjdp)$
 $= O(i)$
 $(A) \Rightarrow -Qr + q_{\pi} + n_{\pi}Eirmq; Prdp$
 $Qr = q_{\pi} + Errmq; Prdp$

 \cap

3) Fetter and Walecka 6.8 continued
(1)
$$\Rightarrow pr + 9r - nr e ojn Pjdp = 0$$

 $Re = pr + enjr nn Pjdp$
 $Pr = pr + (n r Pjdp)$
 $Pr = pr + (n r Pjdp)$
 $Re = pr + (n r Pjdp)$
 $Re = pr + (n r P) odp$
 $Re = pr + (n r P) introduces virs on the odd of $O(dp)$
 $\Rightarrow Pr = pr + (n r P) introduces virs on the odd of $O(dp)$
 $\Rightarrow Pr = pr + (n r P) odp$
 $Ve informer the $O(dp^2)$ torns
 $Pr = pr + (n r P) dp$
 $\Rightarrow Q = q + (n r P) dp$
 $Re = pr + (n$$$$

inesday, February 11, 2015 Fetter and Walecka 6.17 a) G= Z g=Pr + th(gr, Pr, t) dh = E (jrlr + grlr) + e 26 gr + e dh fr + e dh dt = E (jrlr + grlr) + e 26 gr + e dh fr + e dh Since this is type II transformation let F= G - ZPO Qo Cammical transformation must satisfy: Epris - H= IPrar - H + dF Zprgr - H= ZPrar - H + dk - ZPrar - ZPrar $\Sigma prigo - H = -\Sigma Prar - \overline{H} + \Sigma (qr Pr + qr Pr) + E \frac{2h}{21r} qr + E \frac{2h}{2r} Pr + E \frac{2h}{2t}$ $\sum \left(2e^{-Pe^{-\epsilon}} + \frac{\epsilon}{2}G\right) i = H = \sum \left(-ae^{-\epsilon} + \frac{\epsilon}{2}G\right) i = -H + \frac{\epsilon}{2}G + \frac$ 0 (1) 0 (2) $(1) \Rightarrow p_{\sigma} - P_{\sigma} - \epsilon \frac{\partial h}{\partial q_{\sigma}} = 0$ $P_r = p_{\sigma} - \epsilon \frac{\partial}{\partial 1\sigma} G(q_{\sigma}, P_{\sigma}, \epsilon)$ Replacing Por with por in h introduces error of O(E=) $P_{r} = g \sigma - \epsilon \frac{\lambda}{2q\sigma} G(q_r, p_r, t) + O(\epsilon^{2})$ $(a) \Rightarrow Q_{\sigma} = q_{\sigma} + \epsilon \frac{\lambda}{2} G(q_{\sigma}, P_{\sigma}, t)$) Replacing Por with Por in (h introduces error of $O(E^2)$ $a_{r} = q_{r} + \epsilon \frac{\partial p_{\sigma}}{\partial p_{\sigma}} \frac{\partial}{\partial p_{\sigma}} \omega(q_{r}, p_{\sigma_{1}} + O(\epsilon^{2}))$ $Q_{\sigma} = q_{\sigma} + \epsilon \left(1 + O(\epsilon) \right) \frac{\partial}{\partial p_{\sigma}} h(q_{\sigma}, p_{\sigma}, \star) + O(\epsilon^{2})$ $Qe = q\sigma + E \frac{1}{2}G(q\sigma, pe, t) + O(E^2)$

b)
$$F \rightarrow F + dF$$

 $dF = \frac{\partial F}{\partial q^{-}} dq^{-} + \frac{\partial F}{\partial p^{-}} dp^{-}$
From the convolution transformation we have, to first order in E :
 $dq^{-}_{T} = \frac{\partial L}{\partial q^{-}_{T}}$, $dp^{-}_{T} = -\frac{\partial L}{\partial q^{-}_{T}}$
 $dF = \frac{\partial F}{\partial q^{-}_{T}} \frac{\partial F}{\partial q^{-}_{T}}$
 $dF = \frac{\partial F}{\partial q^{-}_{T}} \frac{\partial F}{\partial q^{-}_{T}}$
 $dF = e[F, G]_{PB}$
c) Wher this transformations we have
 $H(q_{T}, p_{C}) \rightarrow H(q_{C}, p_{C}) + dH$
 $H(q_{T}, q_{C}) \rightarrow H(q_{C}, p_{C}) + dH$
 $H(q_{T}, p_{C}) \rightarrow H(q_{C}, p_{C})$
 $Therefore the Homittonion is invariant under this transformation.$

5. Sola:
a) We choose the third generating function

$$q = -\frac{2f_1}{2q} q^{\alpha} s^{\alpha}$$
 $P = -\frac{2f_1}{2q} = 9(p)$
 \therefore $F_3 = -3(p) Q$
 $q = -\frac{3f_1}{2p} = 3(p) Q$
generating function: $F_3 = -3(p) Q$ there type 3 generator
transformation rule: $P = 3(p)$
 $Q = -\frac{3(p)}{2}(p)$
To prove the place space value is invariant, we only need to
verify the determinant of Jacobi Matrix is 1
 $i \cdot e - det - \frac{3E_1}{2q} = 1$
 $\frac{3Q}{2q} = \frac{1}{3(p)} - \frac{3Q}{2q} = -\frac{9g'(p)}{(g(p_1))^2} - \frac{3P}{2q} = o - \frac{3P}{2p} = g'(p)$
 $\therefore det - \frac{3E_1}{2q} = \frac{1}{3(p)} - \frac{3Q}{2q} = -\frac{9g'(p)}{(g(p_1))^2} - \frac{3P}{2q} = 0 - \frac{3P}{2p} = g'(p)$
 $\therefore det - \frac{3E_1}{2q} = -\frac{1}{3(p)} - \frac{3F_1}{2q} - \frac{1}{2q} - \frac{4g'(p)}{2q} - \frac{3F_2}{2q} = -\frac{9g'(p)}{2q} - \frac{3F_2}{2q} = \frac{1}{2q} - \frac{3E_1}{2q} - \frac{1}{2q} - \frac{1}{$

6. $1 + \frac{1}{2m} (P_1^2 + P_2^2 + P_3^2) + \frac{1}{2} k_1 q_1^2 + \frac{1}{2} k_2 q_2^2 + \frac{1}{2} k_3 q_3^2 = E$

Seperate the eqn. $\begin{cases} \frac{1}{2m}P_i^{2} + \frac{1}{2}k_{i}q_{i}^{2} = E_{i} \\ \frac{1}{2m}P_{i}^{2} + \frac{1}{2}k_{i}q_{i}^{2} = E_{i}$

HU#3, P.7

Raul Herrera PHYS 200B

7. The reduced form of the variational principle (by Maupertuis) uses the abbreviated action: So= { pdg or I = = = [pdg We found that I is an adiabatic invariant, that is, = 0 for fixed E and R, where R(t) is a slowly varying parameter such that : ALC T and T is a fast time scale For the harmonic oscillator we can have the frequency, w(t), slowly varying: $L = -m\dot{x}^{2} - m\omega^{2}(t) x^{2}, \quad H = \frac{p}{2m} + \frac{m}{a}\omega^{2}(t) x^{2}$ Note we still have $p = \frac{\partial L}{\partial x} = m\dot{x}$. Over the fast time scale $T = \frac{\partial T}{\partial x}$: $I = \frac{1}{2\pi} \frac{\varphi p dx}{\varphi p dx} = \frac{1}{2\pi} \left(\frac{t+1}{(m \dot{x})(\dot{x} d+1)} - \frac{t+1}{(m \dot{x})(\dot{x} d+1)}$ At fixed w(t), assuming $X(thus \dot{x})$ periodic in ω : $\frac{dI}{dt} = \frac{m}{dt} \int_{t}^{t+T} \frac{d}{dt'} (\dot{x})^{2} dt' = \frac{m}{dt} \frac{\dot{x}^{2}}{\dot{x}^{2}} = 0$ At fixed wy X= 9 cos(wt+ 4) and: $T = \frac{m}{a\pi} \int_{t}^{t+1} w^2 a^2 \sin^2(wt + \varphi) dt = \frac{mw^2}{2\pi} \frac{T}{\omega} = \frac{mwa^2}{2}$ but E= 1 mular, so also I= E. So: From $Tw(t) = E(t) = \frac{1}{2}mw^2a^2 + hus a = \frac{2E}{m\sqrt{w}} = \int_{av}^{b}$ where c is a constant.

Thus, a reasonable solution to the problem of varying w(+) should have the amplitude as w"12. Indeed, we can apply the WKB method, since w = T/T = I = w ~ u(EW) 22 + with E a small parameter So the solution is the same except we replace the space variable, x, with time, t: X(+) = C± ± if w(+)d+ and generally $X = \int \frac{1}{\sqrt{\omega(t)}} \left(C + e^{\frac{1}{\omega(t)} dt} + C_{-} e^{\frac{1}{\omega(t)} dt} \right) = \int \frac{C}{\sqrt{\omega(t)}} \cos\left(\int \omega(t) dt + \varphi \right)$ Either form that is used the amplitude has a factor of w(t)", so: $\frac{d\overline{I}}{dt} = \frac{d}{dt} \left(\frac{\overline{E}}{\omega} \right) = \frac{d}{dt} \left(\frac{1}{\omega} \frac{m \overline{\omega}^2 a^2}{\omega} \right)$ $= \frac{d}{dt} \left(\frac{1}{2} m \overline{\omega}^2 (\overline{c}/\omega) \right) = \frac{d}{dt} \left(\frac{1}{2} m c \frac{\omega^2}{\omega^2} \right)$ = $O(\overline{E}, \overline{\Sigma}, \overline{\omega})$ dénotes average from t to (t+T)and $\omega(t) \approx \overline{\omega}$ Above C, C±, upre constants determined by initial conditions. More directly: $T = \frac{1}{2\pi} \oint P dq = \frac{1}{2\pi} \int_{4}^{++T} \frac{1}{x^2} dt \approx \frac{1}{2\pi} \int_{4}^{++T} \frac{1}{\sqrt{2\pi}} \frac{1}{\sqrt{2\pi}} \left[\frac{\omega}{\sqrt{2\pi}} \times - \frac{1}{\sqrt{2\pi}} \frac{\omega}{\sqrt{2\pi}} \frac{1}{\sqrt{2\pi}} \frac{$ Use that ω is slowly veryins: $T \approx \frac{mc^{2}(\omega)}{2\pi} \int_{1}^{1} \frac{1+\pi}{\sin^{2}(\omega t + \eta)} dt = \frac{mc^{2}(\psi)}{2\pi} \int_{1}^{1} \frac{mc^{2}}{\cos^{2}(\omega t + \eta)} dt = \frac{mc^{2}}{2\pi} \left(\cosh(1 + \eta) + \frac{mc^{2}}{2} \left((\cosh(1 + \eta)$

Prop 8. Point particles in box with sides 6 ! Our goal is to use adiabatic theory to find the relation between pressure and volume when the walls are moving. Start with the stationary case: Assume particles are either moving in x, y or 2 direction, and that its the same number of particles in each direction. To find pressure we use P= = The force is given by F= of. Op is the change in momentum due to the collision, while of is the time between each collision. Every of particles in x-direction: Ex = Zimkurx Change in moment due to collision: Op=Z2mkukx Time between collision for one particle!

torce on wall is then given by $F_{\mathbf{x}} = \sum_{\mathbf{k}} \frac{2m_{\mathbf{k}}\sigma_{\mathbf{k}\mathbf{x}}}{2L/\sigma_{\mathbf{k}\mathbf{x}}} = \frac{2}{L} \sum_{\mathbf{k}} \frac{1}{2}m_{\mathbf{k}}\sigma_{\mathbf{k}\mathbf{x}}^{2} = \frac{2E_{\mathbf{k}}}{L}$ Since we assumed to of the particles to move in x direction Ex= == == Whe can then find the pressure: $P = \frac{F_x}{A} = \frac{aE_x}{L^3} = \frac{2}{3} \frac{E}{V}$ Now lets take the moving walls into We asume that the rate of change of the walls are much slower tan the rate of collision. This means he kan use adiabatic theory! Adiabatic invariant: I= \$ 20 We look at motion in the x direction. since this is free particles the countur integral veduces to a live integral in two directions: $\partial \overline{T} \cdot \overline{I} = \int p dx + \int (-p) dx = 2p L = 2L \sqrt{2mE} = const$ We can then simplify this to Exi= const Taking the differential yields: dEU+ LEde = => dE = - 2Eal

Since the variation is slow we can asome that P= 35 = 25 still holds This allow us to write $dE_x = -\frac{2PV}{2I}dL$ We have V= Lalyla, dV= byladla = l'de $\Rightarrow dE = -\frac{pv}{v}dv = -pdy$ This resault a agrees with the first law of thermodynamics for an adia patic expansion?

1.)

a.

Question: Construct from first principles the hamiltonian fore a 1D harmonic oscillator of mass m and spring constant k.

The kinetic energy is given by:

$$T = \frac{1}{2}m\dot{q}^2$$

While the potential energy is:

$$U = \frac{1}{2}kq^2$$

As we know. L = T - U and $H = p\dot{q} - L$, leading to:

$$H = \frac{p^2}{2m} + \frac{1}{2}kq^2 \tag{1}$$

or

$$H = \frac{p^2}{2m} + \frac{1}{2}m\omega q^2$$

b.

Question: Determine the constant C such that $Q = C(p + im\omega q)$ and $P = C(p - im\omega q)$ define a canonical transformation.

There are multiple ways to show that a transformation is canonical, here I use the fact that Poisson brackets are conserved on canonical transforms.

$$\begin{split} [p,q] &= [P,Q] \\ [p,q] &= \frac{\partial p}{\partial q} \frac{\partial q}{\partial p} - \frac{\partial q}{\partial q} \frac{\partial p}{\partial p} = -1 \\ [P,Q] &= \frac{\partial P}{\partial q} \frac{\partial Q}{\partial p} - \frac{\partial Q}{\partial q} \frac{\partial P}{\partial p} = (-im\omega C)C - C(im\omega C) = -2im\omega C^2 \end{split}$$

So we have:

$$-2im\omega C^2 = -1$$

$$C = \sqrt{\frac{1}{2im\omega}}$$

c.

Question: What is the generating function S(q, P) for this transformation? We have, by definition:

$$p = \frac{\partial S(q, P, t)}{\partial q} \tag{2}$$

$$Q = \frac{\partial S(q, P, t)}{\partial P} \tag{3}$$

So we can write:

$$p = im\omega q + \frac{P}{C} = \frac{\partial S}{\partial q}$$
$$S = \int \left(im\omega q + \frac{P}{C}\right) dq = \frac{Pq}{C} + \frac{im\omega}{2}q^2 + g(P) \tag{4}$$

Where g(P) is some function depending only on P. Taking the derivative of Eq 4 with respect to P

$$\frac{\partial S}{\partial P} = \frac{q}{c} + \frac{dg}{dP}$$

And we know that the above should be equal to Q by Eq 3. So:

$$\frac{q}{c} + \frac{dg}{dP} = C(2im\omega q + \frac{P}{C})$$
$$\frac{dg}{dP} = \frac{q}{C} - \frac{q}{C} + P$$
$$g(P) = \frac{1}{2}P^2$$
(5)

Finally, putting it all together:

$$S(q, P) = \frac{1}{2}P^2 + \frac{qP}{C} + \frac{q^2}{4C^2}$$

d.

Question: Find Hamilton's equations of motion for the new variables

We know that our new Hamiltonian, $\tilde{H}(Q, P, t)$, if related to our coordinates P and Q by:

$$\dot{Q} = \frac{\partial \tilde{H}}{\partial P} \tag{6}$$

$$\dot{P} = -\frac{\partial \tilde{H}}{\partial Q} \tag{7}$$

But we can write \dot{Q} and \dot{P} as:

$$\dot{Q} = C(\dot{p} + im\omega\dot{q}) \tag{8}$$

$$\dot{P} = C(\dot{p} - im\omega\dot{q}) \tag{9}$$

and using our hamiltonian, H(q,p,t) to derive \dot{q} and $\dot{p}\text{:}$

$$\dot{Q} = C(-m\omega^2 q + im\omega\frac{p}{m}) = Ci\omega(p + im\omega q) = i\omega Q$$

Thus we can integrate the above equation to arrive at:

$$\tilde{H}(Q, P, t) = i\omega QP + g(Q) \tag{10}$$

where again g(Q) is some function depending only on Q. Switching over to \dot{P} :

$$\begin{split} \dot{P} &= C(\dot{p} - im\omega\dot{q}) = -i\omega P = -\frac{\partial\tilde{H}}{\partial Q} \\ &-\frac{\partial\tilde{H}}{\partial Q} = -i\omega P + \frac{\partial g}{\partial Q} \end{split}$$

Thus g(Q) = 0 and we can see that our new Hamiltonian is given by:

$$\tilde{H}(Q,P,t)=i\omega QP$$

Using this Hamiltonian, we can trivially see that:

$$\dot{P} = -i\omega P$$
$$\dot{Q} = i\omega Q$$

We can integrate these equations to find:

$$Q(t) = Q_0 \exp\left(i\omega t + \phi_1\right) \tag{11}$$

$$P(t) = P_0 \exp\left(-i\omega t + \phi_2\right) \tag{12}$$

or, substituting in for our original coordinates:

$$p(t) = \frac{1}{C} \left[Q_0 \exp(i\omega t + \phi_1) + P_0 \exp(-i\omega t + \phi_2) \right]$$
(13)

$$q(t) = \frac{1}{2im\omega C} \left[Q_0 \exp\left(i\omega t + \phi_1\right) - P_0 \exp\left(-i\omega t + \phi_2\right) \right]$$
(14)

٩.)

b.) Parametric Instubility: 六 ~ 2凡 We assume we can first the solution as fast oscillator term modulaked by a slowly . growing amplitude. I.e. $\chi(t) = M(t) sin(wt) + b(t) cos(wt)$ where $\alpha(t), b(t)$ vary slowly with respect to the Srequency w. Also driving new resonance. We essentially treat the solution as a small perturbation from the Standard, non-Sorcing solution. If the driving amplitude is small computed to the dimensions of the system, this pertubation is allowed. Key Features: of the slowly varying amplitudes allow for both stuble and Growth equation So sufficiently close to resonance

direigent growth. Wohr VS Einsmissinhich So sufficiently close to r Ly Amptitule of promotic Say lends to growth

Summy of example:
Growth parameter
$$S^2 = \frac{w_0^2 h^2}{16} - \frac{\epsilon^2}{4} = \frac{1}{4} \left(\frac{w_0^2 h^2}{4} - \epsilon^2 \right)$$

For $\epsilon^2 > 7 \frac{w_0^2 h^2}{4}$, stuble oscillation.

9.) continued

d.) Anharmonic Oscillator

Expansion parameter ELL Wo

We assume we can write the solutions x(H) and W as a survey of successive approximations

$x(t) = x^{(0)} + x^{(1)} + x^{(2)} + \cdots$	Ner	2 (1)	0(e [:])
$w = w_0 + w^{(1)} + w^{(2)}$			O(e ⁱ)

The main issue here is the me have a bent phenomenon from the x³ term, thus we can have resonance and thus a divergence. The key is to use the expansion that choose w⁽¹⁾, w⁽²⁾, etc so the resonant terms disappear. Eventue perturbation]

Key Furthere:

Non-linear Sugary shift!

Examplei

Dusting equ: 2+w2x+Bx3=0

Summery: A non-linear freq shift occurs, w=w_s+ 3 a^2 & wo

 $\Box \lambda \alpha^2 \parallel$

Tuble Summary

Cuse:	Time Socules	Approx Mude	The Leverage	Key Features
Pondermotive Force		$x(4) = \overline{x}(4) + \widehat{x}(4)$ $U \simeq U_{444}$	Average one Sust period to Sind ess. putertial	New positions of stubility, instability
Parametic Enstability	<u>×</u> ≈2∩	x(+) = a(+)cos(w+) + b(+)sin/w+) a(+), b(+) slowly varying	Thent the solu as a perturbation from from the bold solution from the solution.	Growth of the amplitutes o gos stuble be divergent beh work? VS Er Amp Mismatch
Adrabatic Invasionce	ž un		Brenke up He Ancage DE DH DA DA DH	I = \$ 1 plq = const E.X Conservation of phase space area
Anhumomic Oscillator	and the second se	the local data in the local data and the local data and the local data is a finite or the local data and	Freedom of choosing Ev ⁽¹⁾ , w ⁽²⁾ , etc. 50 resonant tem hisappeness	

9.) continued

Cuse	Example	Line Summy
Pond. Furce	Innerted pendulum with a driven support	$\begin{aligned} \mathcal{U}_{455} &= \mathcal{U} + \frac{1}{4mw^2} \left(\frac{s_i^2}{y_i^2} + \frac{s_2^2}{y_i^2} \left(\frac{s_i^2}{y_i^2} \right) \right) \\ & \frac{d\mathcal{U}_{855}}{dy} = 0 \& \frac{d^2\mathcal{U}_{455}}{dy^2} > 0 Sui stabilization \end{aligned}$
Parametric Instability	Orimn Oscillator with Driving Greek a 2Wo	Growth parameter: $S^2 = \frac{1}{4} \left(\frac{w_0^2 h^2}{4} - 6^2 \right)$ Stuble Sur $E^2 > 7 \frac{w_0^2 h^2}{4}$
Adiabatic Invavionne	staly varying wo of oscillation	$I = \frac{1}{2\pi} \int p dq = \frac{1}{2\pi} \sqrt{2\pi} \int \sqrt{2E} = E/\omega = 1 \text{ onst}$
Anhar. Oscillator	Dubling cqn si + Wi x + Bx3 = 0	$W = w_0 + \frac{3}{8} \frac{\omega^2 z}{w_0}$

